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QUESTION 1

802.11 has three frame types, which are (Select 3 Answers).
A. Data frame

B. Control frame

C. Service frame

D. Management frame

Correct Answer: ABD

QUESTION 2

There are many video conferences in large companies, and QoS generally adopts the service model.
A. Best Effort model

B. IntServ model

C. FIFO model

D. DiffServ model

Correct Answer: C

QUESTION 3

If the AP\\'s transmit power is 1mW, it is converted to dBm and then dBm.
A. 20

B.1

C.0

D. 10

Correct Answer: C

QUESTION 4
The following description of WEP encryption is wrong.
A. WEP encryption uses a stream encryption algorithm.

B. WEP encryption adds IV to destroy the regularity of the key.
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C. The length of the IV in C. WEP encryption is 48 bits.
D. WEP encryption allows the device to store four keys at the same time.

Correct Answer: C

QUESTION 5

For indoor distributed APs, the following description is correct (B).
A. AP power can be up to 800mWw.

B. It can be deployed in conjunction with the carrier\\'s 3G network.
C. Waterproof and dustproof

D. AP6310SN supports dual frequency mode

Correct Answer: B
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